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Unit 3 — EOC Practice Name:

1. Solve for x or the missing measure:

a. C.
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3. Find the Area of the Shaded Sector.

2. Find the length of arc CD.
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4, Find the Volume of the following:
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i. Find the volume of the empty space.

Fmd the volume of the empty space
phere; Ve A= ﬁ“’“‘ﬁ?{g sy
=4, g? per ball
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Box - Sghere = 2774 - 13787

N cylinder = Spw'@ .
= (123077 » 4 in ")
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5. Circle Pis dilated to form circle P*, Which statement is ALWAYS {rue?

A. The radius of circls P is equal to the radius of circle P,
B. The length of any chord in circle Pis greater than the length ol sty chord in circle #7,
C. The diameter of circle P is greater than the diameter of circle P,

)The ratio of the dameter 16 the eircumference is the same for both eircles.

6. The spokes of a bicycle wheel form 10 congruent eentral angles. The diameter of the
cirele formed by the puter edge of the wheel is 18 inches.

What is the lenpth, to the nearest 0.1 inch, of the outer edge of the whecl between two

consecutive spokes?

-3l . 25vC
1.8 inches 20
(B.)5.7 inches L 26 2T ()
€. 11.3 inches _7
D. 254 inches - —

7. Jason consfructed two cylinders using solid metal washers. The cylinders have the sane
~ height, but ene of the cylinders is slanted as shown.

Which statement §s true about Jason™s cylinders?

A. The eylinders have different volumes because they have different radii.
B. The cylinders have different volumes because they have different surface areas,
C. The cylinders have the same volure because each of the washers hag the same height.
Tht‘% cylinders have the same volume becanse they have the same cross-sectional area at
every plane paraliel to the bases.




8. Use the diagram to explain why m£ADC =85°.

N an iascrised Rued nilatead,

cpposSite ; are  SOPP ?ﬁf‘mﬁﬁ asy.

9. What is the volume of a cylinder with = radius of 3 in. and a height of % in?

) - 2.
Bl s . 2 in3 V= }’%., an
= ‘W[Cﬁ "

10. Use the diagram below to answer the following questions:

I
a. What is the m ET? @

kY
b. What is the mrSiT\? @

c. What is the m Z/EMS? ?L b

H

11. Find the area of the shaded region:

12. Find the area of the following figure:
urole echor

13. Find the volume of the following cone.
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14. Cylinder A and Cylinder B are shown below. What is the volume of each cylinder? What

do you notice about their volume?
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15. Which of the following inscribed shapes wouid have the closest perimeter to pi? Explain.
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16. Using the figure below, determine the volume of the sphere.
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